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2/6 - Percent Equations: finding a part of a whole

What number is 25% of 807?

Old way: :
_ "is" means "equal"
Is %
J = 100 "of " means "times"
New way:
What number is 25% of 807?

n=(.25)(80)
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What is 21% of 76?7 | What is 3% of 1327

N= .2l » 7 = eI RS
n= /G nN=4
0.2l 76 = 15. 96 0.03 1 152 = 3.96
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320% of 150 1s what?| What is 54% of 150?

2% (D= A = .5F>* /50
5.2x 150 = 450 0.54 x 150 = &1
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What 1s 71% of 84?7 | What 1s 96% of 133.5?

= .7 _,,Lgc_l ] == o= (DS
A=5. & 1= 12R%.L
0.7l x 54 = 59 64
A 0.96 +155.5 = 125.16
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